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Factor each of the following.

9.   3x2 + 10x + 8 = _______________

10.   18x2 + 21x + 5 = ______________

11.   3x2 – 23x + 30 = _______________

Ex2 + Fx + G = (ax + b)(cx + d) 

E = ac G = bd adx + bcx = Fx
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Use the factoring method to solve each of the following equations. 

17.  5x2 + 22x + 8 = 0       18.  18x2 + 9x + 1 = 0         19.  3x2 – 26x + 16 = 0  
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Use the factoring method to solve each of the following equations. 

17.  5x2 + 22x + 8 = 0       18.  18x2 + 9x + 1 = 0         19.  3x2 – 26x + 16 = 0  

Step 1:  Write the equation in standard form:  Ax2 + Bx + C = 0

Step 2:  Write the equation in factored form.  
(Factor the polynomial Ax2 + Bx + C.)

Step 3:  Apply the ‘zero property of multiplication.  
If PQ = 0, then   P = 0 or Q = 0.

Step 4:  Solve each equation.
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